LO
&CO

BRERA PULL LARGE 660MM

*Handle and backplate

are separate items

TECH SPEC
SPECIFICATIONS
. . 3 : 3 : . E
: : | | ! ! : £
= : g : :V/ :Vf :Vf :Vf l S
é D! A A A A
Sl | | I |
I , I I I |
f et _— _—
£ ! ! ! !
~ o e e TR TP P T T T
12mm 660mm
l E . 1 1 1 1
& é I L, L, L, L,
£ o o 77 o Yy o
o~ I | I |
M5 Screw
e e R R TP I e
18mm 288mm 320mm 46mm
672mm

L
Z
n
I

SKU

FIXINGS ALSO INCLUDED

Natural Brass

Aged Brass

Tumbled Brass

Bronze

Brushed Nickel

Matte Black

H RFRN

Matte White

Handle: 4081-660-US4
Backplate: 4081-672-US4

Handle: 4081-660-AB
Backplate: 4081-672-AB

Handle: 4081-660-TB
Backplate: 4081-672-TB

Handle: 4081-660-BR
Backplate: 4081-672-BR

Handle: 4081-660-BN
Backplate: 4081-672-BN

Handle: 4081-660-US19
Backplate: 4081-672-US19

Handle: 4081-660-W
Backplate: 4081-672-W

- 3x M5 * 25mm Screw
- 3x M5 * 40mm Screw
- 3x M5 Spring Washer

CARE INSTRUCTIONS

Wipe with damp cloth and avoid using any chemicals.

WWW.LOANDCOINTERIORS.COM.AU

HELLO@LOANDCOINTERIORS.COM.AU



